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Sydney Girls High School
‘Mathematics Department

. Year 10
Class Test — Similarity.
Time Allowed: 40 minutes |

Instructions: * Show all necessary workiﬁg
« Write answers in the space provided .

Question 1

.In each part the figlires are similar,
(D Find thé‘ivalue of each pronumeral

(i)  Find the scale factor-
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(i) Prove that A AOC ||| A DOB
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Ouestion 2({cont}

(b)

()  Given that DE || 4B, prove that AABC ||| ADEC

(ii) Find the value of y

(i) If EB=1.8, find the value of x
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(i) Find the ratio of the area of Figure A to the area of Figure B.

)

(it) If the area of Figure B is 54%m % find the area of Figure A (correct to 1 decimal place).

}

(b) Two similar polygons have areas of 49 cm®and 121 em?,

(i) Find the ratio of their sides

(ii)  Ifaside of the smaller polygon is 2lcm, what is the length of the corresponding
side of the larger polygon?
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Question 4

(a) Two similar vasesShavé heights 15 cm and 20 ¢m respectively. If the smaller vase has a

volume of 135 ¢m?, what is the volume of the larger vase?

(b) Two similar cones have base areas in the ratio 25 : 9.

6y, What is the ratio of their diameters?
(i)  What is the ratio of their heights?

(iii)  If the volume of the largér cone is 160 cm?, find the volume of the smaller cone
(correct to 1 decimal place)
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Sydney Girls High School
‘Mathematics Department

- Year 10 %%

Class Test — Similarity
Time Allowed; 40 minutes .
Insfructions: e Show all necessary working

» Write answers in the space provided
Question 1 Cb

In each part the fighires are similar
B
(i)

Find thé value of each pronumeral
Find the scale factor

I S e
. ;c‘ Q 12.5em

% M
Ongtna .Lmage : o
U j2.s - A
IMage, & A@\c fedfor = 2%
Or‘ingsal
o =% S-S %’-'}5 o
! o= HOU(W{W. Z_".;, Pt QSLUES) . ] : o = q‘g / |
B =0 . - ) P ' :
U (R r~
. T-—Lt..-‘-’\—‘l;-}f"—.?-.)ﬁ-* .

£3

—7

. 3 - Y i
Question 2 ok feder = 3 !

i@ ~

D

Y

(1). . Provethat AAOC|||A DOE
in A's AcCondt DO . '
onc /L Oo (ver® PP 29
- AL La AC\\D
Zcmj (ay

%?bq ULGJ
TR tenglel G cqal Qr@»&[ar

»

- A poc (i Do, "
(i)  Findx
Ao o

| —— o i hu;/
o2 oY =>



QOuestion 2{cont) -

(b)

1) Given that DE || AB, prove that AABC ||| ADEC
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(i)  Find the value of y
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(iiiy If£B=1.8, find the value of x
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“Question 3 |
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-(i) Find the ratio of the area of Figure A to the afea of Figure B.
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(ii) If the area of Figure B is 54ym?, find the area of Figure A (correct to 1 decimal place).
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(b) Two similar polygons have areas of 49 cm”and 121 cm?,

) Find the ratio of their sides
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If a side of the smaller polygon is 21cm, what is the length of the corresponding
side of the larger polygon?
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Question 4 (
(a) Two similar vaseshave helohts 15 cm and 20 cm respectively. If the smaller vase has a

volume of 135 cm®, what is the volume of the larger vase?
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(b) Two similar cones have base areas in the ratio 25 : 9.

St = 22D0m>

(i) What is the ratio of their diameters?
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(i) ~ Whatis the ratio of their heights?
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(iii)  If the volume of the largér cone is 160 cm*, find the volume of the smaller cone

(correct to 1 decimal place)
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